

Tax invoice

Purchase order no
 Dropdeck Trailers

Invoice number
 IV00000001348

Issue date
 08/01/2024

Due date
 01/03/2024

Bill to

Brendan Hartmann
 B M HARTMANN
 PO Box 1180
 Dalby QLD 4405
 Australia

Item ID	Description	UoM	Qty	Unit price (\$) excluding tax	Tax	Amount (\$) excluding tax
lab 90	Labour	Hrs	65	90.00	GST	5,850.00
	Brake shoe kit	Qty	12	134.90	GST	1,618.80
	10 stud Brake drum	Qty	12	139.92	GST	1,679.04
	Hub cap gasket	Qty	6	1.77	GST	10.62
	Set 413 bearing	Qty	6	56.21	GST	337.26
	Set 414 bearing	Qty	6	71.41	GST	428.46
	Roller retainer kit	Qty	6	3.26	GST	19.56
	Inner bearing nut	Qty	6	10.06	GST	60.36
	'S' cam	Qty	6	47.32	GST	283.92
	'S' cam tube	Qty	6	46.66	GST	279.96
	'S' cam washer kit	Qty	6	2.87	GST	17.22
	46305 Hub seal	Qty	6	26.78	GST	160.68
	Trailer height control valve	Qty	1	181.39	GST	181.39
	Manual raise lower valve	Qty	1	260.98	GST	260.98
	3/8 compression 'T'	Qty	4	13.57	GST	54.28
	3/8 compression joiner	Qty	4	5.70	GST	22.80
	m12-1/8 m&f adaptor	Qty	12	8.45	GST	101.40
	m16-1/4 fem adaptor	Qty	2	7.47	GST	14.94
	8mm-1/8 male connector	Qty	4	3.42	GST	13.68
	8mm comp 'T'	Qty	1	15.96	GST	15.96
	8mm-1/4 male	Qty	1	4.22	GST	4.22
	3/8x1/4 comp fitting	Qty	6	8.16	GST	48.96
consumables	consumables	Qty	3	10.00	GST	30.00

Notes

24/10/2023 Drop deck trailers .

Vawdrey

Remove all wheels, drums and hubs, Remove brake shoes
 Remove all slack adjusters, 's' cams and tubes . Clean axles.
 Fit new 's' cam tubes and new 's' cams, Shim up and refit slack adjusters.
 Fit new brake shoes.
 Remove old bearings from hubs and clean out .
 Fit new bearing cups and pack new bearings with grease .
 Fit hubs with new seals and adjust bearings. Fit hub caps .
 Fit new drums, Refit wheels and tension.
 Remove and replace ride height valve .
 Fit manual raise/lower valve and plumb valve .
 Remove and replace leaking relay valve .
 Remove broken bolts from trailer king pin, Refit kingpin and tension with new bolts .

Freighter

Remove front left hub . Couldnt get parts, refit hub.
 Organise new axles.
 Remove and replace all axles .
 Fit new brake shoes and drums to axles, Refit wheels and tension.
 Fit and plumb r12p relay valve .
 Fit new ride height valve .
 Fit manual raise lower valve and plumb .

Subtotal (exc. tax) \$11,494.49

Tax \$1,149.45

Total Amount (inc. tax) \$12,643.94

Total paid \$12,643.94

Balance due \$0.00

View your invoice online

[Click here to view](#)

How to pay

Invoice number: **IV00000001348** Due date: **01/03/2024** Balance due: **\$0.00**

 **Pay online**

Scan the QR code or click the link to view this invoice online



 **Bank deposit**

Bank: National Australia Bank

Name: ZJ & KL Welsh

BSB: 084938

AC#: 903624914

Ref#: IV00000001348

 **Pay securely**

ZJ & KL Welsh

4 McDonald Court
WYREEMA, QLD, 4352
Phone: 0458219930
ABN: 76389043069

Tax invoice

Purchase order no
Hendrickson axles

Invoice number
IV00000001333

Issue date
16/11/2023

Due date
30/12/2023

Bill to

Brendan Hartmann
B M HARTMANN
PO Box 1180
Dalby QLD 4405
Australia

Item ID	Description	UoM	Qty	Unit price (\$) excluding tax	Tax	Amount (\$) excluding tax
	Hendrickson HXL7 Axle	Qty	3	7,000.00	GST	21,000.00
	Freight	Qty	1	905.00	GST	905.00

Notes

Supply Three Hendrickson Axles for drop deck trailer

Subtotal (exc. tax) \$21,905.00

Tax \$2,190.50

Total Amount (inc. tax) \$24,095.50

Total paid \$24,095.50

Balance due \$0.00

View your invoice online

[Click here to view](#)

How to pay

Invoice number: IV00000001333

Due date: 30/12/2023

Balance due: \$0.00

Pay online

Scan the QR code or
click the link to view this
invoice online



Bank deposit

Bank: National Australia Bank

Name: ZJ & KL Welsh

BSB: 084938

AC#: 903624914

Ref#: IV00000001333

Pay securely

